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	2018/November Braindump2go 300-475 Exam Dumps with PDF and VCE New Updated Today! Following are some new 300-475

Real Exam Questions:1.|2018 Latest 300-475 Exam Dumps (PDF & VCE) 65Q&As

Download:https://www.braindump2go.com/300-475.html2.|2018 Latest 300-475 Exam Questions & Answers

Download:https://drive.google.com/drive/folders/0B75b5xYLjSSNd1U4ZFZOc3p2bWM?usp=sharingQUESTION 32Cisco ACI

uses which protocol as Southbound Protocol?A.    OpFlexB.    RIPC.    OpenFlowD.    EIGRPAnswer: AQUESTION 33The Cisco

APIC automatically archives and replicates which three data? (Choose three.)A.    policiesB.    statisticsC.    endpoint databaseD.   

incremental scalabilityE.    partition databaseF.    database performanceAnswer: ABCQUESTION 34How many nodes in a cluster

can the APIC support?A.    from 1 to 20B.    from 2 to 50C.    from 3 to 50D.    from 3 to 31Answer: DQUESTION 35In a Cisco

ACI cluster, which protocol is used by the Cisco APIC for discovering neighbors?A.    LLDPB.    IS-ISC.    EIGRPD.    DHCP

Answer: AQUESTION 36What is the maximum number of spine switches supported in a Cisco ACI cluster?A.    4B.    6C.    8D.   

10Answer: BQUESTION 37What are the two valid SPAN or ERSPAN source options to copy the traffic from the ports as part of

troubleshooting? (Choose two.)A.    one or more switch portsB.    a Layer 3 subinterface (l3extLIfP)C.    VLANs or EPGsD.    a

destination IP for the ERSPAN with an IPv6 addressAnswer: ACQUESTION 38Which two guidelines or restrictions are valid

when using traceroute? (Choose two.)A.    When the traceroute source or destination is an endpoint, the endpoint must be dynamic

and not static.B.    The traceroute source and destination IP addresses are configured as a combination of IPv4 and IPv6 addresses.C.

   Traceroute only supports endpoint-to-endpoint mode.D.    A traceroute that is initiated from the tenant endpoints shows the default

gateway as an intermediate hop that appears at the ingress leaf switch.Answer: ADQUESTION 39The Cisco APIC supports which

two health score types? (Choose two.)A.    system-basedB.    policy-basedC.    leaf-basedD.    EPG-basedAnswer: ACQUESTION

40What is the name of the program that provides a real-time display of REST API commands that the Cisco APIC processes to

perform GUI interactions in Cisco APIC?A.    CLI EditorB.    API InspectorC.    APIC ConsoleD.    ACI InspectorAnswer: B
QUESTION 41Which two encoding languages are used by the Cisco APIC API? (Choose two.)A.    JSONB.    JAVAC.    BSOND.  

 XMLE.    YAMLAnswer: ADQUESTION 42Which two options are supported by the Cisco ACI contract model? (Choose two.)A. 

  ether typeB.    COS markingC.    TCP source portD.    logging typeAnswer: AC!!!RECOMMEND!!!1.|2018 Latest 300-475 Exam

Dumps (PDF & VCE) 65Q&As Download:https://www.braindump2go.com/300-475.html2.|2018 Latest 300-475 Study Guide

Video: YouTube Video: YouTube.com/watch?v=TlaHzl_axLU
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